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step 1: Clear your calculator. Look at the number line.

(Decimal Number-Line Puzzles

Step 2: Enter the end number, subtract the start number, and divide by the
number of jumps between. The result is the interval number.

Step 3: Enter the start number and add the interval number. This is the first
missing number. Add the interval again to get the next missing number,
and so on.

Example:
End number — start number = difference 6 — 4 =2
Difference =+ hops = interval 2 -+ 5=04
44+04=44,44+04=48;48+04=52;52+04=56;56+04=86.0
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